AT ILARF—IWHAZT U |

ZFULARF-VAxo3>t-v | Stainless steel connecting parts

Gelenkaugen Kolbenstange | Piston rod hinge eyes

D1 3 6,2 16 9 n 6,0 M5

A1 0 82 20 20 16 8,0-10,0 M8 [ ]
M2 10 102 20 20 16 8,0-10,0 M8 ®
B1 128 B 828 25 12 19 10,0 - 14,0 M10 [
([ ]
([ ]

K2 122 82 2 20 19 10,0 - 14,0 M10
c1 14 142 40 20 20 140-200 M14*15

Gelenkaugen Zylinder | Hinge eyes cylinder

15,0 [ ]

A1 10 8,2 20 20 16 19,0 - 22,0 MB [ J
M2 10 102 20 20 6 19,0 - 22,0 M8 o
B1 12 82 250 (12 19 28,0 - 40,0 M10 [ J
o

®

—

K2 12 82 20 20 19 28,0 M10
c1 14 142 40 20 20 40,0 M14*1,5

Gewinde Kolbenstange | Threads piston rod side

5 [ ®
BO M8 g 8 [ J
HO M8 g 10,0 [
DO M10 9 10,0-14,0 [ J ®
20 MF14*1,5 15 20,0 o ®

Gewinde Zylinder | Threads cylinder side

15,0 ([ ]
20 MF14*1,5 15 40,0 [ ] [ ] ®
Mo M10 13 28,0-40,0 [ J o ®
NO M8 8 19,0-28,0 [ J [ ] ®

Winkelgelenke | EIbow joints

M8x9,5 M8x13 nein/no
A3 13 30 MB8x14,5 M8x16,5 13 jalyes
A4 16 35 M10x15,5 M10x20 16 jalyes
B4 19 45 M14*1,5 x 20 M14*1,5 x 28 20 jalyes

Gabelkopfe | Clevises

A5 8 16 16 8 42 32 M8

B9 10 20 20 10 52 40 M10

Bansbach easylift




SLARF=IWHAZTUS |

Gelenkkopfe | Hinge heads

A7  GEKA7MSNI  8° 8 8 16 M8 24 36 16 12

A8 GEKASMIONI  6° 5 10 19 Mi0 28 43 20 13

Kugelpfannen | Ball sockets

F3 10 19 M8*10

P3 13 30 M8*14

Kugelbolzen | Bolts

I (T :
KB10M8*13NI 10 M8*13 12
KB13M8*16.5NI 13 M8*16.5 13

Bolzen fiir A5 | Bolt for A5

0 0
Col I === =
A s
M5 BOMSNI MaRe gemaR Zeichnung / measures see drawing 1.7
25+5.0

Beschldge | Brackets

r\"i Platte
: / ﬁl .Ei 214 Darstellung ohne die mittlere
] | @3\ e f Bohrung (Bohrungs-¢ ist gleich)
/8 byE S
e
3 .
900BA1TNISR = ie (A - ; 2} ol
~ Y @2 2 ~ oy
i = e
in Edelsta
32 M o o v ragailning clipl
= ;1 Ze stainless steel
i 2.5%45 07.8 ¥ e W
45

Sicherungsring

45
Platte 45 I__.[W4 ~
11 1T T ‘
2 : QI
t X © LS ES
N « IR
900BAZNISR ; ,\ QI = @/’ @2 p S
; I ~~Z N i
g ~
oL 2 Bolzen |¢6 :1? ™
4 -~

e L | in Edelstahi
’ 2 2.5x45° W retaining clip
: stainless steel
40 29 236
R8S

N
S
.28 |
T
—J
98.5
7
2518

900BAGNIBO A\ ~
" — —
T T T
g L M
el 51 Il.c 03 ||]2.5
69 18

Technische Anderungen vorbehalten ¢ We reserve the right to make technical changes at any time without prior notice Bansbach easylift




